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(B)

©)

The idea of concurrent list was borrowed from

British Constitution
Canadian Constitution

Irish Constitution

A .
47']& & TS
TEHLLL I W6 eTanid SHSs) G]ug)uuu_gji_‘_;:} c«_—;‘k‘ N
S SN
@A) QQrudarpder s ummw,ﬁ@cﬂgﬁ@_aﬁ‘g{‘?
: SRS
= D
B) sar_reler opHlwuaannded & d?og
- D g &
©) auﬁmnﬁﬁsﬁ,&_aﬁwwmml@a&@@éf
S N
D) %mglm@mmnaﬂmauﬁuwmmW@ﬁg N
&Gy
QLSE
T DN
CASS
| < &7 S
| G FELE
181. In which year the Parliament enacted thK o guage Act?
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182. In how many years will
interest? Ul a sum of T 1,600 amount to # 1,852.20 at 5% per annum compound
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184, Ifa+b b+c c+a

=k, Then the value of ; is
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186. Which among the following industries generates invisible exports?

(A)  TFishing

\‘9/ Tourism W4E/88HINE ACADEMY
(C) Jewellery Ch’rome' Rta”QHSamy Street L N
Ph: 85307 gyaq T E-600 044,
(D) Handicrafts 4344 / 720Q6 22622
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187. Which of the following agricultural commo §‘§§%1ﬁa gives largest inte_rrns of export value?
: ) v,é.
\m/ Tea ) <Q )
(B) Basmathi Rice Ju
(C)  Spices g Sirse.
. 7 ’/!7 “::“ (J (J:; !
D)  Cotton /72008 sope,
 Géneumib crauGauatr@mento 2 HLS QbHwimeller sifswner gHmiog wHlienL 5@6&15&7@@?
4) Csufae !
(B) urevwd <M
(C)  pooe epliasar
@) uvEsd
71 - ccsat
= 4 [Turn over
,M”“""”"’“ﬁm e “"w

Scanned by CamScanner



188. What happens in the reduction process?

(A)  loss of electrons

\(E( gain of electrons

C)  loss of hydrogen
(C ydrog . N
(D)  gain of oxygen 5 5 V\?&y
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190.  Name the place where the River Ganga and Yamuna joins?

Allahabad (B) Mderabad
(C)  Delhi _v (D)'\“)f":f\‘g}"dh}»'bq,
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191.  Name the dam constructed across the River Sutlej

(A)  Hirakud dam

\@/Bakra Nangal dam
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AN

(C) Kosidam s
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192. In which year Madras Mahajana Sabha was started?
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193.  Which Act provided Provincial Autonomy to India?
(A) Rowlatt Act — 1919

(B)  Minto- Morley Reform Act — 1909

\% The Government of India Act — 1935

(D)  Montagu-Chelmsford Reform Act — 191?\
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194. Whom of the following was the Chief Organiserﬁﬁf}c{\&é‘ﬁv{é\? of 1857 in Bihar?
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195.

196.

As per 2011 census the-total urban population in the state of Tamil Nadu is

(A) 27.48 million
\(8/34.95 million

©) 36.04 million

A\
(D)  42.50 million <X¥
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Which district of Tamil Nadu produces th%@k{b ﬁg@mt of food grain
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197.

A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the other p,

loses 10%. Find his gain or loss percent on the whole

(A)  Loss % =90%

B) Gain % =5%

&
Loss % = 1% N
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- 199.

200.

I i . : .
n which city the first Nepal — India “Think Tank summit” was held?
(A)  New Delhj
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(D) QaraasssT

The campaign to create awareness among children to identify sexual abuse is
(A)  Safety is in your Hands

Our safety, Our rights
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(C)  Save child, Save future Q@@\ .
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(D) Child safety in police hand 0?}-9\8@% q{)io“v
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